Four pages  included
· Include an assessment of whether the current fare maximizes profits. If not, identify the fare that should be charged. Give evidence that it is the best by showing that profits are highest if this fare is charged. 

The current fare does not maximize profits given the amount of passengers expected to buy the fare. At this fare point the profit is $12,800. The profit-maximizing output for the firm is reached when the profit-maximizing output Q*, MR > MC; therefore, the firm should expand output. On the other hand, to the right of Q*, MR < MC; therefore, having reached the output level Q*, the firm should not expand output.  Based on the excel sheet the fare used to expand output is $650, when the MC is closest to the MR, 50 and 70 respectively, while maximizing the profit, $20,000. The new quantity and number of passengers is 75, compare to 50 with the fare at 850, and 45 at fare $890.  The new fare follows the laws of demand.
· Complete the Customer Demand Data spreadsheet for Clear Blue Sky by calculating all appropriate revenues, costs, and profits. This spreadsheet can be downloaded from the Project Materials. 

See excel sheet

· Discuss whether fuel costs should be used as a basis for pricing. 

The fuel price should be used for pricing, since incorporating this cost into the price, allows minimizing the risk of changing fuel prices.

· Comment on the suggestion that the company could use price-discrimination strategies to improve profitability. 


The company should use price discrimination to improved profitability.  Selling the same product and service, in this case airline tickets, to different customers at different prices is the right strategy. The airline company  does not have enough information about each person to know the reservation price of buyers. The airline company uses third degree price discrimination or group pricing.  Although this strategy will not generate as much profit as personal discrimination, it will capture more consumer surplus and profits than it would have charging the same price to every market group.
· Discuss the requirements for effective price discrimination, and describe how Clear Blue Sky satisfies these requirements. 

This firm has been able to identify particular groups of customers with different types of price sensitivities.  These group segments of travelers are:
1- business 

2- government 

3- students

4- academic 

5- leisure  
Also, the firm meets requirements needed for such strategy: 

1- Selling of non transferable tickets to avoid resale (preventing arbitrage)

2- market power

3- identification of customer segments

4- it can provide a unique service to capture those customers that can pay more, while not allowing for them to buy at a lower price

5- the use of restrictions such as Saturday night stay, non refundable fares, no changeable fares, proof of identification,  developed to capture the groups willing to pay less money

Identify and describe each group of travelers according to their price sensitivity. Analyze the price elasticity of demand for each group. 
Elasticity describes, quantitatively, the degree to which demand varies with respect to some factor. Among the most common determinants of demand are price, income and total trip time. All of these are influenced by the availability of substitutes (in this case, cars, trains and video-conferencing). Unlike income, price and trip time are negatively correlate with demand. They vary by market segment and even by customer. 

A price elasticity of -1.0 means that a one percent increase in total ticket price leads to a one percent decline in passenger volume. If the entire market had a blended (i.e., weighted-average) price elasticity of -1.0 (known as "unit elasticity"), changes in price would have virtually no effect on revenue.

The table below summarizes the price elasticity for each group of travelers  
	Group
	e

	Business 
	-1.1

	Government 
	-1.3

	Academic
	-1.9

	Students
	-2.6

	Leisure  
	-3.2


All of these groups show sensitivity to price changes, and therefore have price elasticity. Academic, student and leisure groups have an increased decrease in demand if the price was to increase.  The government and business groups are less likely not to purchase the ticket if there is an increase in the price. For example for every 1% increase in price the business group will lead to 1.1% decrease in demand, and so forth for each group.
· Recommend a pricing plan that effectively separates each group of consumers. Providing actual prices is not necessary, but your plan should clearly indicate the level of pricing for each group.

Measurements of elasticity require large volumes of data over significant periods of time.
I could not figured this out I think I do not have the price for each group to used this formula.
MC=50
Be=-1.1
Le=-3.2

Pb=850
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